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log (L*) LABJIND sample lightness log (L*/L* ) LABJIND sample lightnessL*
L* LHIL* normalized to the
L*= (t/a) In[1+b (Y/YY)] background lightnessL*
a=0.3411 t=88.23 /a=258.6 b=&,=6.14 L*/L* = (&) {In (1 + b (Y/Y) = In (1 +b)}
a=0.3411 t=88.23 t/a=258.6 b=&,=6.14
ad100p 17u7508 Yu=18 1410
log(L* ,)=2.7, m,;=0.43 e
IR 4 i g
I3 . ! L* =508 Y,=18
log[(L*/L* )]=0, m,=0.43 -
24100 ot ! odh1a SOUETLT DI .”r."....:,.—‘
' application P ‘ : application
: range Re 1 range
L 0,1 1 10 4Y,=18100y 1 0,1 ? 10 'Y,=18100y
- -1 0 1 2 log(Y) - -1 0 1 2 log(Y)
YEO11-1N_1 YEO011-2N_1
logAY  CIE tristimulus value difference AY log(AY/AY)  CIE tristimulus value difference
AY L= (Ua) In [ 1 + b (YIYy)] aviay, AYnormalized toAY,
a=0.3411 t=88.23 t/a=258.6 b= ,=6.14 L*= (t/a) In [ 1 + b (Y/Yy)]
tristimulus value Y difference a=0.3411 t=88.23 t/a=258.6 b=&=6.14
log(dY)=log[(s+qY)/c] relative tristimulus value Y difference
=log [(1+b-(Y/Y,))/t] 14 10 log@Y/dY,) = log [(1+b: (Y/Y,)) / ] - log [(1+b) /1]

relative tristimulus value Y contrast
Olllog(dY/Y} =log[(1+aY)/(tY)]

application
-~ range
0,01 S
log(d/¥)=-2.34 m=-0.13 ~ & _
- . -

[Y,=18, dv,=0.08 dY,/Y,=0.004

log (L*) LABJIND sample lightness log (L*/L* ) LABJIND sample lightnessL*
L* LHL* normalized to the
L*=(ta)In(1+aY) background lightnessL*
a=0.3411 t=88.23  t/a=258.6 L¥/L* = (Ya) {In (1+aY)-In(1+aYy}
a=0.3411 t=88.23  t/a=258.6
L*,=508 Y,=18
341000 1410
log(L* ,)=2.7, m;=0.43 P
I g B s
Lot L* ;=508 Y,=18
‘ ' log[(L* /L* ,)]=0, m,=0.43 -
24100 ot ! ofte - PEL TR L et
I application il ‘ : application
: range R4 § range
. 0,1 1 10 4Y,=18100y i 0,1 ? 10 'Y,=18100y
- -1 0 1 2 log(Y) - -1 0 1 2 log(Y)
YE010-1IN_1 YE010-2N_1
logAY  CIE tristimulus value difference AY log(AY/AY)  CIE tristimulus value difference
AY L*= (Wa) In (1 +ay) aviay, AYnormalized toAYy,
a=0.3411 t=88.23  t/a=258.6 L*=(Ya)In (1+aY)
tristimulus value Y difference a=0.3411 t=88.23 t/a=258.6
log(dY)=log[(s+qY)/c] relative tristimulus value Y difference
od1 =log[(1+a'Y)/t] 14 10 log@Y/dY,) = log [(1+a'Y) / ] - log [(1+a " Y,) / 1]
s=0.017 =0.0058 c=15
4
Pie Y,=18, dY,=0.08 d¥,/Y,=0.004
¢ _ _ .
~1h 0,1 Y,Z18 0Y=0.08 dY/Y,=0.004 Odege PUEYEVIIEG, MZ08S -
Ol L . A
log(dY}=-1.09 m=0.86 ¢4 application .’ : application
L ¢ ' range I 1 range
5 0.1 r” 10 4Y,=18100y o 0.1 T 10 1Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
YE010-3N_1 YE010-4N_1
log AY/Y) CIE Y based contrast log [(AY/Y) I (AYy/Yy)] CIE Y based contrast
C=(aYIY) C//Cu=(AYIV)(aYTY,) Normalized to AY, /Y,
L*=(a)In(1+aY) L*=(t/a)In(1+aY)
a=0.3411 t=88.23  t/a=258.6 a=0.3411 t=88.23 t/a=258.6

tristimulus value Y contrast
10 10gl(dYM)/(@Yy /Y] =log [(1+aY)/(tY)]
—log[(1+aYy)/(tYy]

S . application
~o range

- .

Ogule = -------
log[(dY/YY(dY,/Y,)]=0, m=-0.13 &

Y,=18, dY,=0.08 dY,/Y,=0.004  }

$=0.017 q=0.0058 c=15
*
PAe Y,=18, dY,=0.08 dY,/Y,=0.004  ,*
4 _ _ ¢
~1h0a YiZ18 8Y,=0.08 dY,Y,=0004 ¢ g PYEVEWEC MI0EE e
TR e (g AL A i A
log(dY)=-1.09 m=0.86 g application PR : application
L ¢ ' range I 1 range
0.1 r” 10 4Y,=18100y 0,1 T 10 1Y,=18100y
—2 _1
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
YEO11-3N_1 YEO011-4N_1
log AY/Y) CIE Y based contrast log [(AY/Y) I (AYy/Yy)] CIE Y based contrast
C=(aYIY) C//Cy=(YI)(AYIY,) Normalized to AY, /Y,

L*= (a) In [ 1 + b (Y/Y)]
a=0.3411 t=88.23 /a=258.6 b=&=6.14
tristimulus value Y contrast

0,1l0g(dY/Y)=log [ (1 +b (Y/Y)) / (t'Y)]
application
~ range

0,01 S
10g(dYY)=-2.34 m;=-0.13 ~ &

-~
- e .

[V,=18 dY,=0.08 dY,/¥,=0.004 3

L*= (t/a) In [ 1 + b (/Y]
a=0.3411 t=88.23 t/a=258.6 b=&=6.14
relative tristimulus value Y contrast

10 10GLAYMI(AYY,)] = log [(L+b: (YY) / (t1)]
=log [(1+b) / (t'Yy) ]
AN application

~ range

- .

Ogul= ---- - -
10gl(dY/YY(dY,/Y,)]=0, m;=-0.13 1

Y,=18, dY,=0.08 dY,/Y,=0.004  }
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relative tristimulus value Y sensitivity
1000 log(Y/dY)=log [ (1+a'Y) / (t-Y)]

S I N S U
=

. 0,1 1 10 1v,=18100y ) 0,1 1 10 1Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
YE010-5N_1 YEO010-6N_1
log (Y/AY) CIE Y based sensitivity log [(Y/AY) I (Yy/AY,)] CIE Y based sensitivity
S=(Y/AY) S /S =(YIBY)/(Y /AY,) normalized to Yu/AYu
L*=(t/a)In(1+aY) L*=(/a)In(1+aY)
a=0.3411 t=88.23  t/a=258.6 a=0.3411 t=88.23  t/a=258.6

relative tristimulus value Y sensitivity
10 log[(Y/dY)/(Y/dY )] =log [(tY) /(1 +aY)]
—log [(tY/(1+aYy]
L* =508 Y,=18, dY,=0.08 Y,/dY,=222

= 0,1 1 10 1v,=18100y 4 0,1 1 10 1Y,=18100y
- -1 0 1 2 log(Y) -2 -1 0 1 2 log(Y)
YEO11-5N_1 YEO011-6N_1
log (Y/AY) CIE Y based sensitivity log [(Y/AY) I (Yy/AYy)] CIE Y based sensitivity
S=(Y/AY) S5, =(YIAY)I(Y,/AY,) Normalized to Y /AY,

L*= (t/a) In[ 1 + b (Y/Y)]
a=0.3411 t=88.23 /a=258.6 b=&=6.14
tristimulus value Y sensitivity

L*=(ta) In [ 1+ b (Y/Y,)]
a=0.3411 t=88.23 t/a=258.6 b=&=6.14
relative tristimulus value Y sensitivity

] log[(Y/dYY(Y,/dY,)]=0, m=0.13
29100 e N o YA (E=0 2\1._. AR
’ == o=
: application e’ - : application
, range . 3 range
10 1Y,=18100y L 0,1 1 10 1Y,=18100y
1, 2 _log(Y) - -1 0 1 2 log(Y)
YE010-8N_L
YEO010-7N

34 1000 log(Y/dY)=log [ (1+b*(Y/Y,) ) / (t'Y)] 14 10 log[(Y/dY)/(Y/dY,)]= log [(t-Y) / (1+b-(Y/Y,) )]
L* =508 Y,=18, dY,=0.08 Y,/dY,=222 —log [(t'Yy)/(1+b)]
.. logvidn=23amzo1s . L* (=508 Y,=18, 4Y,=0.08 Y,/dY, =222
- log[(Y/dYY(Y,/dY,)]=0, m,=0.13
29100 e ' b1 PYCAY QYIS0 M0LS L
L d 1 ————— Phd g ——
application e’ 1 application
range ’ 1 range
L 0,1 1 10 1Y,=18100y 1 0,1 1 10 1Y,=18100y
- -1 0 1, 2 log(Y) B -1 0 1 2 log(v)
YEO11-7N_1 YEO011-8N_1
YEO11-7N

TUB-test chart YEO1; CIELAB and LABJND_1 formulae input: w/rgb/cmyk —> w/rgb/cmyk
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Threshold lightness, difference, contrast, and sensitivity output: no change
] M Y [0) L

Vv

-6




